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DIPLOMA IN DAIRY TECHNOLOGY 
(DDT) 

Term-End Examination 

December, 2012 

BPVI-016 : DAIRY PRODUCTS-III 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. 	Define any ten of the following : 
(a) Dry ice 

(b) Quarage 

(c) Heating 

(d) Thermization 

(e) Brine 

(f) Sogginess 

(g) Overrun in icecream 

(h) Fermentation 

(i) Bulk starter 

(j) Abiotic spoilage 

(k) Probiotic Food 
(1) 	Thermophilic culture 

10x1=10 
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2. 	Match the words given under column B with 
appropriate statements under column A : 

	
10x1=10 

Column A 	 Column B 

(a) That portion of 	(i) 	Mellorine 

feed solution that 
remain on the higher 
pressure side of the 
memberane 

(b) Orange, pineapple, 	(ii) Rheology 

lime or mango 
flavoured alcoholic 
drink depetoped 
from whey 

(c) Term derived from 	(iii) Flux 

an Italian phrase 
meaning spun paste 

(d) Ice-cream in which 	(iv) Whevit 

butterfat is replaced 
with a suitable 
vegetable or animal 
fat 

(e) Reduction in volume (v) Retentate 
of icecream leaving 
space either at the 
top or on the sides 
of the package. 

(f) The rate of extraction (vi) Pasta-Filter 
of the permiate ; 
measured in litres/ 
square meter of the 
membrane surface 
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(g) Device used in the 	(vii) Shrinkage 

spray drier to spray 

the concentrate in 

small droplets 

(h) Removal of moisture (viii) Atomizer 

from the curd 

particles 

(i) Antibiotic substance (ix) Synersis 

produced by certain 

lactic acid bacteria 

(j) Science of 	 (x) 	Niasin 

deformation and 

flow of matter 

3. 	Fill in the blank in the following choosing correct 
option from (i), (ii) or (iii). 	 10x1=10 
(a) As per PFA buffalo milk dahi shall contain 

not less than 

(i) 6.0% milk Fat and 8.5% SNF 

(ii) 6.0% Fat and 9.0% SNF 

(iii) 5.5% milk fat and 9.0% SNF 

(b) The Food grade lactose in the international 
Trade shall have 	 lactose. 
(i)  98-99% 

(ii)  95-96% 

(iii)  99.5%-99.9% 
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(c) The milk Fat content in the processed cheese 

shall not be less than 	 as per 

the PFA. 

(i) 	40% 	(ii) 50% (iii) 38% 

(d) Maximum sucrose in the shrikhand on dry 

matter basis shall not be less than 

	 as per BIS. 

(i) 	77.5% 	(ii) 	72.5% (iii) 60% 

(e) Milk Fat in kulfi shall not be less than 

	 on dry matter basis as per PFA 

standards. 

(i) 	8.0% 	(ii) 	6.0% (iii) 10% 

According to BIS the weight of the ice-

cream in grams/litre shall not less than 

(i) 525 	(ii) 540 (iii) 550 

As per PFA the plain ice-cream shall contain 

not less than 

matter basis. 

 

total solids on dry 

 

(i) 	24 % 	(ii) 	40% (iii) 36% 

(h) Hard cheese shall contain not less than 

	 milk fat on dry matter basis. 

(i) 	40% 	(ii) 	42% (iii) 38 % 

(f)  

(g)  
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(i) 	Ice-cream containing generous amount of 

Fruits, nut meats and raisin is known as 

(i) 	pudding 	(ii) 	granite (iii) Trappe. 

(1 ) 
	

Cheese ripened by bacteria with eyes is 
known as 	 

(i) collage 

(ii) swiss 

(iii) cheddar. 

	

4. 	Write short notes on any five of the following : 5x2=10 

(a) cheddaring 

(b) steps of processing in manufacturing of 
processed cheese. 

(c) Nutritional attributes of whey 

(d) Loprecipitate 

(e) Calcium cuseinate 

(f) Ghee residue 

5. (a) Give the Flow diagrame for the 4 

manufacturing of ice-cream. 

(b) Give the recipe for the manufacture of sofety 	4 
ice-cream. 

(c) List the body and texture defects of ice- 2 
cream. 

	

6. 	(a) Give the chemistry of stretching of 	4 
Mozzarella cheese. 
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(b) Explain the various defects in cheddar 

cheese. 

(c) Describe ripening of cheese. 

7. 	(a) Describe various Factors which affect 

Fermentation process of starter culture. 

(b) Discuss the nutritional aspects of Fermented 

milk. 

(c) Which are the states in India where Misti 

Doi is popular ? 
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tcift 41en sto (t.t..t) 

TR-lau 

f-1141W, 2012 

Q•.*A.3111.-016 : 

F7 -61 : 2 lo2 	 37fEIWTLT 34" : 50 

7-)E-  : 	Taq dtH \TN/ 

1. 	LiforifErd 	: 
(a) k‘Itch ml Li) 

(b) Tht7 

(c) 1141 

(d) 2,11:117 

(e) 7T4-47 TrT 

(f) 4 1 	0141 

(g) alTrg st114-1 	alTzta7 e-if 

(h) f*-rf-d-9' 

(i) 9-1)•T (bulk) RTtt  

(j) 3T-1-41-4  fq-frff 

(k)~11G1N1f 	dch ITU -EKTO 

(1) 7971-Tft 	4c4tf 

10x1=10 
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2. 	chl(11-1 {_q -14 rg 	7F 	1-)I f 	cr) c14 

10x1=10 

(*Mg 	 ch I ri4-1 771 

(a) 1=bt2: ch l 	APT ,31) 	(1) 

, -ociq101 

T-EFt 14-rrr 

t I 

(b) *'# f-d-f4-ffter, 	(ii) 	NR-Tf-d7N 

ate, 	TIT 31114 

r ~ra~l~r11 "Ifq 

tzl 	 

(c) 	-f (italian) =h laci (iii) 	3-Tf9T-ITt 

-F=FT-r 

34031-9- 1 

(d) 3i1i f=1-4 	(iv) 

\31416 	-cid 

cl-W4F101-) ?Tr 	-q-1-r 

chi 41f1ff  vildi 

(e) 31-M4 --11:1 	31171-d-9- 	(v) 

chi 	 -qq-# 

Trr 

3-T1T .11c-114-1 	3-17it 

(f) frizz 	014f4-11 	(vi) 	1711- T - ftb—cd-T 

Wr 	fifF=r 
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3. 	Rth T-P-TT9)t 	14, (i), (ii) R:FT (iii) 	dr-cid f-4-7-cf 

qI WT-k, TI7R : 	 10x1=10 

(a) tft W-11 	3T-§T{ 	 chll 

	

1-0-1 -41 	 
(i) 6% T'-T cRii AT 8.5% 	 

(ii) 6.0% citii 3t 9.0% 	4 	w-1-) 

(iii) 5.5% TN ciw AT 9.0% 	 

(b) ataTtzf c4iILIR 	Lps 	 7F-TE4ru 

(i) 98-99% 

(ii) 95-96% 

(iii) 99.5-99.9% qa-1-  
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(c) 	7cF 7 -k 	-R-cpc1 41\3i 	+ ,T -qTrr 

ATT 	  f-t4-1 -41 614l 	 

(i) 40% 

(ii) 50% 

(iii) 38% 

(d) 	•q•3-1F 	 -qcF 4q1C3TRITT IT{ NIRt_l 

(-;) 3-111,7*74 1:17F 	 f9-1=;i 

-16 .1,41- 	 

(i) 77.5% 
(ii) 72.5% 
(iii) 60% 

(e) 	fi 	11-14) 	3 	TzTEF LiqIzt 31Tql{ Li* 

14. 	q-I 3f-dFd 	 A 
.Fr 16 6111 -,411-  

(i) 8.0% 
(ii) 6.0% 
(iii) 10% 

(f) 	a1 3-TT 	3-TIATT 3-TftA chi uli-urc-R. 	ITTT 

	 A f-9-1r 161' ski -ciir, 

(i) 525 
(ii) 540 
(iii) 550 

-717EF.7 	 3.171----Th 4 -q,LF trq-r2.f 

3P-TrT 4 	-a-'r  	f 	-ffe 	 

(i) 24% 
(ii) 40% 

(iii) 36% 

(g)  
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(h) 	 -GIIf 14 -a-tF Liqr2i 3-Trw at q4q qM chi %, 

	 firi 16' -cit 

(i) 40% 
(ii) 42% 
(iii) 38% 

(i) -a7 Fon4-R1 -qt 
	 t 

(i)  
(ii)  
(iii)  

()) 	 trwr 	 

(i)  

(ii) frEfT1 

(iii) qt 

	

4. 	 4t N f -11 	 frtg7 : 	 5x2=10 

(a)  

(b) t1 	cl 4 \If1:1 -5R1M 

(c) * cb1 Lilaruich F.Rlaci4 

(d) TIPTql:FuT 

(e) 	tea 
(f)3-1-4tE 

	

5. 	(a) 	31-ri 	chl tUiqq sir 	TR I 	 4 

(b) TIM:0 31-F1=1"q9T4c#1-1-cn-  cl 	f 	I 	 4 

(c) 1-)INch 	t-ft-cill 	 2 

I 
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6. (a)  4 Q,3-1 	fd-qTq.  (stretching) 

r\II 	I 

(b)  fdfdq 	chl quN 	I 4 

(c)  ch I quiff 	--1-f-A7I 2 

7. (a)  4cig 	yr-wzrr cf-) 4 

-q-crh fq-faq 	chi 

(b)  rchrucid 	Lilbirulch 4 

(c)  1-TTTU 	f*-9.  717-1-) 14 cl)chrW-1 ? -11 4-1 2 
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